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Time: 10 Minutes Paper Science 8 Total Marks: 10

4 Month, 3rd Week, 2nd Day Syllabus: Unit # 7 Properties of acids

Q.No.1 Encircle the correct answer from the following choices. (0.5%x6=3)
-J o/ Il S IR e A 5T
i. Which of the following is a natural indicator? ?‘gk.@l[}/}vuf;u:u’

(a)|Litmus ‘fb/ (b)|Phenolphthlein ﬁlé”r:’
(c) [Methyl orange é/}'J/Lé’.f' (d)|None of these d&f
ii. The other name of termeric is : :g"_rt'l/»(.f/.‘/‘
(a)|Washing powder /ﬁfgﬁb (b)|Haldi powder /ﬁigd,dg
(c)|Gun powder A’fgu'% (d)|Milk powder 2534 2395
iii. Termeric paper remains in acidic solution.
b 2SS
(a)|Yellow x| (b)[Blue *|(c) |Green ~|(d)|Brown 1,82
iv. The colour of termeric paper turns in alkaline solution.
-l 4 LSS
(a)|White 4+ |(b)|Green |(c)|Brown 1,44|(d)|Yellow ke

v. Which solutions can not change the colour of red cabbage indicator?
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Time: 10 Minutes Paper Science 8 Total Marks: 10

Syllabus: Unit # 7 Properties of acids

4 Month, 3rd Week, 2nd Day

Q.No.1 Encircle the correct answer from the following choices. (0.5%x6=3)
- bﬁu/'l»):ﬁu’fnu’/.,«E’"K,«’ﬁc//)c_u.‘.'(f”;'@/)
i. Which of the following is a natural indicator? ?‘Lﬁg}’(}/jl/u/;uful

(a)|Acidic solutions /:,J./J;w (b)(Basic solutions /’}11,@
(c)[Natural solutions /’}l”dio (d)|Dilute solutions ﬁ)’.&}f’/'ﬁ

vi. In which solutions the purple colour of cabbage indication turns red?

St f Ul ik (G0 Gttt

(a)|Acidic solutions /’)"JM' (b)|Basic solutions /)c@
(c)[Natural solutions /’)L”JE (d)|Concentrated solutions /’)L”i’a.}ff
Q.No.2. Write short answers. (2x2=4) -u.‘."dc«l..’i/‘?

-u‘.‘.dgrtikgi’l&p:’

YUt AL g el T

(i) Write name of natural indicators.
(ii) What do you know turmeric paper?
Q.No.3. Write long answer. (3) -u..“{«b?( §~
Write the properties of acids. .gf.‘!"J c«yﬂ’ d//’ir.”

(a)|Litmus Lj‘g (b)|Phenolphthlein ugla?"!.‘.’
(c)[Methyl orange é/:'J/Lw’f (d)[None of these u.'."@:’/
ii. The other name of termeric is : :4‘-_(&:’/»(.&‘/‘
(a)|Washing powder /55£ﬁ'3 (b)|Haldi powder /%‘Ed,df
(c)|Gun powder /ﬁfgdf (d)|Milk powder 253} 2395
iii. Termeric paper remains in acidic solution.
< b 2SS g St
(a)|Yellow lkz|(b)[Blue |(c)|Green ~|(d)[Brown 1,84
iv. The colour of termeric paper turns in alkaline solution.
-¢-bend s LSO 2
(a)|White 4+ |(b)|Green s |(c)|Brown 1,+4](d)|Yellow e

v. Which solutions can not change the colour of red cabbage indicator?

“éuf?&iy@%{}lgffcff/‘)’cuf

(a)|Acidic solutions /}/JM! (b)|Basic solutions P
(c)|Natural solutions /)’JE (d)|Dilute solutions j-""}l/&r}/'ﬁ’

vi. In which solutions the purple colour of cabbage indication turns red?

b At B B EAS

(a)|Acidic solutions /’)L”JM! (b)|Basic solutions /’,J“HC“*
(c)[Natural solutions /’)"JE (d)|Concentrated solutions /’,J",‘l%..”/"(
Q.No.2. Write short answers. (2x2=4) -ut."@«tb’/z"

(i) Write name of natural indicators.
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(ii) What do you know turmeric paper?

Q.No.3. Write long answer. (3) -u.‘."q,«b?&fd
Write the properties of acids. _u,‘,"g.;,‘l:ay‘;d/jﬂl




